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f(x) = VxF 2= Vx+ 1T L W, £(0)+£(1)+£(2)+---+£(99)+£(100)
o] gr& F5hH?
O -1 @ V101-1 @ V102 -1

@ V102- V101  ® V102
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f0)=V2-Vi=-1++2
f)=V3-V2=-v2+ V3
f(2)= Vi- V3=-V3+ V4.
£(99) = V101 - V100 = - \/WJM/W
£(100) = V102 — V101 = — V101 + V102
S f0) + F(1) 4+ f(2) + -+ + £(99) + £(100)

= -1+ v2-V2+ V3+-V3+ Vd+--- - V100 + V101 -
V101 + V102

= =14+ (V2= V2)+ (V3- V3) + (V4 +---— V100) + (V101 -
V101) + V102

~1+4(0) + (0) + (0) + V102
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® A=q, B=p, D=r @ B=p, C=¢q, D=r

® B=r, C=p, D=g
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Wp-g=V3+V5-(V3-2)=V5+2>0..p>q

2 g-r=v3-2-(V5+2)=V3-V5-4<0.r>¢q
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T 0 1 2 3 4

3.0 | 1.732 | 1,735 | 1.738 | 1,741 | 1,744
4.0 12.000]2.002|2.005|2.007| 2.010
5.0 12,230|2,238 | 2,241 | 2,243 | 2,245

D 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76
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V126abc = V2 x 32 x 7 x abc

abc = 14 T+ abc = 56 == abc = 126
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abc =504 & o, (7, 8, 9)
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¥ -ax-3x+3a-3=(x+a)(x+pB) =2 ESH
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3
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15. x=2+V3,y=2-V3 & W, -y +4x—4y o] 29| Fh& F-5hH?

© -4 @ 4 ® 8V3 @16\/3 ® 24
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x, y o 3t 2H5 ot
x+y=2+V3+2-V3=4
x-y=2+V3-(2-V3) =23

X2 =y FAx -4y
=(x+y) (x-y) +4(x-y)
=(x-y) (x+y+4)
=2V3x(44+4)=16V3




